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1.  ‘Bureaucracy is the price of parliamentary democracy’ – who said this?  
 A)  Herbert Simon   B)  Woodrow Wilson  
 C)  Max Weber    D)  Herbert Morrison  
 
2.  Who among the following drew a line between self-regarding and other 
 regarding activities of the individual?  
 A)  T.H. Green  B)  J.S. Mill  C)  Bentham  D)  Hegel  
 
3.  The article of the Covenant of the League of Nations which contains the 
 provisions relating to collective security: 
 A)  Article 15  B)  Article 16  C)  Article 17  D)  Article 18  
 
4.  The four-fold functional analysis of the social system is made by  
 A)  Gabriel Almond   B)  Sidney Verba  
 C)  James Coleman   D)  Talcott Parson  
 
5.  Which one of the following is a serious limitation to Rule of Law in UK?  
 A)  Supremacy of the British Parliament  
 B)  Absence of Separation of Powers  
 C)  Delegated Legislation  
 D)  Two Party System  
 
6.  European Recovery Programme of USA is known as: 
 A)  Munroe doctrine   B)  Marshall plan  
 C)  Truman doctrine   D)  Eisenhower doctrine  
 
7.  The doctrine of Proportional inequality was propounded by?  
 A)  Plato     B)  Rousseau  
 C)  Aristotle    D)  Machiavelli  
 
8.  The ‘CLECTS’ in prismatic society of Riggs are:  
 A)  Hereditary leaders of caste groups  
 B)  Elected leaders of middle class  
 C)  Political leaders who could not win elections  
 D)  Elite groups who are traditional clout to win elections  
 
9.  Identify the subjects listed in the Concurrent List of Indian Constitution: 
 1.    Education    2.    Forests  
 3.    Marriage and Divorce   4.    Electricity      5. Police  
 
 A)  1 & 5 only   B)  1, 2 & 5 only  
  C)  1, 2, 3 & 4 only    D)  1, 2, 3, 4 & 5  
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10.  Choose the correct statement/s from the following:  
 1. The shortest Article of the Indian constitution is Article 52  
 2.  Article 72 mentions about the pardoning power of President.  
 
 A) 1 only   B)  2 only  C)  Both 1 and 2  D)  Neither 1 nor 2  
 
11.  Who among the following is associated with the idea of internal dependency?  
 A)  Cardoso    B)  Samir Amin  
 C)  Frank     D)  Huntington  
 
12.  Non-Member State disappear and align with super powers in ----- system. 
 A)  Loose bi-polar  B)  Hierarchical  
 C)  Tight bi-polar  D)  Unit veto  
 
13.  Who among the following visualized the party as a ‘social compact care’?  
 A)  Duverger  B)  Finer   C)  Lenin   D)  J.S. Mill  
 
14.  Which of the following theory of political parties was propounded by Maurice 
 Duverger?  
 A)  Two party system   
 B)  Cadre based party  
 C)  Coalition system  
 D)  Four-fold classification on the basis of structure  
 
15.  The Supreme Court of America is the third house of the legislature – who said this?  
 A)  Carl J. Friedrich   B)  Laski  
 C)  Jefferson    D)  Madison  
 
16.  The article of Indian constitution which directs the State to protect and 
 improve the environment, forests and wild life: 
 A)  Article 43A  B)  Article 44A  C)  Article 48A  D)  Article 49A  
 
17. Identify  the  Federations  in   which the  second  chambers  have  equal 
 representation to federating units:  
 1.  USA   2.  Germany  3.  Australia  4. Canada  
 

 A) 1& 4 only B) 1& 2 only C) 1 & 3 only D) 2 & 3 only  
 
18.  The crucial point on which political realism and political idealism are at cross 
 purposes with each other is about the problem of:  
 A)  Nationalism  B)  Power  C)  Justice  D)  Law  
 
19.  India’s status in Arctic Council is:  
 A)  Observer    B)  Dialogue partner  
 C)  Member    D)  Associate Member  
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20.  Michigan studies is related to the study of: 
 A)  Recruitment    B)  Training  
 C)  Disciplinary action   D)  Leadership  
 
21.  ‘The First Enquiry’ is the name of a study by:  
 A)  Taylor    B)  Elton Mayo  
 C)  Simon    D)  Weidner  
 
22.  The six-point plan for establishing ‘New Socialism for India’ was outlined by: 
 A)  M.N. Roy    B)  Ram Manohar Lohia  
 C)  Gandhiji    D)  B.R. Ambedkar  
 
23.  Harold Lasswell’s ‘Politics: who gets, what, when and how’ discusses: 
 A)  Distributive justice  
 B)  Scientific method and value relativism  
 C)  Social implications of capitalist polities  
 D)  Fundamentals of political participation  
 
24.  Which one of the following is not among the three main characteristics of 
 decision making as asserted by Richard Snyder?  
 A)  Sphere of competition  B)  Communication and information  
 C)  Motivation    D)  Litigation  
 
25.  ABCD Conference method is related to:  
 A)  Recruitment    B)  Discipline  
 C)  Training    D)  Punishment  
 
26.  Identify the Articles of the Constitution of India which have a bearing on the 
 rights of women:  
 1.   Article 15  2.    Article 39  3.     Article 42  4.    Article 123  
 
 A) 1, 2 & 3 only   B) 1, 3 & 4 only 
 C)  2, 3 & 4 only   D)  1, 2 & 4  only 
 
27.  The concept of contribution – satisfaction – equilibrium was advocated by:  
 A)  F.W. Taylor    B)  Chester Bernard  
 C)  F.W. Riggs    D)  M.P. Follet  
 
28.  The author of ‘From Sociology of Politics to Political Sociology’: 
 A)  Henry Eulau    B)  S.M. Lipset  
 C)  Sidney Verba   D)  G. Sartori  
 
29.  ----- Approach is said to be value – laden. 
 A)  Traditional    B)  Behavioural  
 C)  System    D)  Post behavioural  
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30.  The author of ‘Subjection of Women’: 
 A)  Mary Woolstonecraft  B)  J.S. Mill  
 C)  Kate Millet    D)  Bentham  
 
31.  Match List I with List II 
 List I (Concept)    List II (Scholar)  
 a. Proletarian Internationalism  1. Charles Kindleberger  
 b. Political realism    2. Hans Morgenthau  
 c. Complex interdependence  3. V.I. Lenin  
 d. Hegemonic stability theory  4. Keohane and Nye  
 
 A) a-3, b-2, c-1, d-4  B) a-2, b-3, c-1, d-4  
 C) a-4, b-3, c-1, d-2   D) a-3, b-2, c-4, d-1  
 
32.  Assertion (A): Reservation of a state bill for the assent of the president is a  
     discretionary power of the Governor.  
 Reasor (R):    The President of India can disallow or return a bill passed by a 
     state legislature for reconsideration.  
 
 A) Both A and R are true and R is the correct explanation of A 
 B) Both A and R are true but R is not correct explanation of A 
 C) A is true but R is false  
 D) A is false but R is true  
 
33.  The founder of the group named ‘Philosophical Radicals’:  
 A)  J.S. Mill    B)  Machiavelli  
 C)  T.H. Green    D)  Bentham  
 
34.  An exponent of conflict and peace studies: 
 A)  Schumpeter    B)  Rosa Luxemburg  
 C)  Cardoso    D) Joseph Nye  
 
35.  The author of ‘General and Industrial Management’is:  
 A)  Fayol   B)  Taylor  C)  Waldo  D)  Elton Mayo  
 
36.  Lucian Pye is associated with the concept of:  
 A)  Development Trap   B) Political Decay  
 C)  Political Breakdown  D)  Development syndrome  
 
37.  Which of the following is not related to Ram Manohar Lohia?  
 A)  Principle of Equal Irrelevance  
 B)  Bahiskrit Bharat  
 C)  Theory of Equidistance  
 D)  Decentralized freedom  
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38.  Who of the following associates with ‘Structural Realism’?  
 A)  Morgenthau    B)  Snyder  
 C)  Kenneth Waltz   D)  Schuman  
 
39.  Match List 1 (Concepts) with List II (Proponents)  
 List I      List II  
 a. Soft State     1. Sidney Verba  
 b. Communication    2. Heinz Eulau  
 c. Civic Culture   3. Karl Deutseh  
 d. Behaviouralism   4. Gunnar Myrdal  
 
 A) a-4, b-3, c-1, d-2  B) a-2, b-1, c-3, d-4  
 C) a-3, b-4, c-2, d-1  D) a-4, b-3, c-2, d-1  
 
40 Assertion (A): Development administration signifies action-oriented and target 
     oriented programmes suitable for developing countries.  
 Reason (R):     The success of rural development plans acts as a strong impetus 
      for initiating other developmental plans.  
 
 A)  Both A and R are true and R is the correct explanation of A 
 B)  Both A and R are true but R is not the correct explanation A 
 C)  A is true but R is false.  
 D)  A is false but R is true.  
 
41.  World Investment Report is published by:  
 A)  WTO   B)  World Bank  C)  UNCTAD  D)  IMF  
 
42.  Match List 1 with List II  
 List I          List II  
 a.  The Function of the State is ‘Hindrance to Hindrancess’  1. Laski  
 b. ‘That Government is best which governs the least’   2. Bentham  
 c.  The state should promote ‘greatest good of the  
      greatest number’       3. T.H. Green  
 d. ‘The state is not absolute it is pluralistic and 
      federal as society is federal’     4. J.S. Mill  
 
 A) a-3, b-4, c-2, d-1  B) a-2, b-1, c-4, d-3  
 C) a-1, b-2, c-4, d-3  D)  a-4, b-3, c-2, d-1  
 
43.  States in Indian Union can be reorganized or their boundaries altered by:  
 A)  Parliament by a simple majority in the ordinary process of legislation.  
 B)  Two thirds majority of both the houses of parliament.  
 C)  Two-thirds majority of both the house of parliament and the consent of 
  the legislatives of the concerned states.  
 D)  An executive order of the Union government with the consent of the  
  concerned state governments.  
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44.  Political development syndrome in view of Behavioral theorists does not 
 include: 
 A)  Equality involving popular rule  
 B)  Capacity involving efficiency  
 C)  Differentiation involving specialization  
 D)  Homogeneity involving unity  
 
45 The Commission which recommended for the establishment of office of special 
 officer for linguistic minorities: 
 A)  Administrative Reforms Commission  
 B)  Dar Commission  
 C)  State Reorganization Commission  
 D)  Kaka Kalelkar Commission  
 
46.  Select the pair which is not correctly related: 
 A) Rousseau   - Sovereignty resides in the General will  
 B) Bentham   - Laws are the commands of the sovereigns  
 C) Hegel   - Sovereign power is subject to divine or natural laws  
 D) Hugo Grotius  - Sovereign power is limited to the laws of God, nature 
       and nations.  
 
47.  The concept ‘pseudo-pressure groups’ was used by: 
 A)  Jean Blondel    B)  Almond  
 C)  Maurice Duverger   D)  Eulau  
 
48.  The notions of antagonistic contradictions and non-antagonistic contradictions 
 was formulated in:  
 A)  Karl Marx    B)  Mao-Tsc-Tung  
 C)  Lenin    D)  Gramsci  
 
49.  The thesis Democratic Centralism was propounded by: 
 A)  Marx   B)  Engels  C)  Lenin   D)  Stalin  
 
50.  In political science, ‘content analysis’ is used for the study of:  
 A)  Political Development  B)  Political Culture  
 C)  Political Modernization  D)  Political Communication  
 
51.  Who among the following extends the jurisdiction of a high court to, or exclude 
 from, any union territory?  
 A)  Parliament by law,  
 B)  The President of India  
 C)  The Chief Justice of India  
 D)  Legislature of the state in which the high court is situated  
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52.  Who among the following argued that the past circumstances or actions of 
 people create differential entitlements?  
 A)  Rawls     B)  Althusser  
 C)  Habermas    D)  Robert Nozick  
 
53. Assertion(A): Elton Mayo’s recommendations are immensely useful not only 
     in the industrial sector but also in the administrative system of a 
     state.  
 Reason(R):  Human beings in all kinds of organization have some common 
    social needs, feelings, attitudes and desires.  
 
 A)  Both A and R are true and R is the correct explanation of A 
 B)  Both A and R are true but R is not the correct explanation of A 
 C)  A is true but R is false.  
 D)  A is false but R is true.  
 
54.  Arrange the following in chronological order:  
 1.    Tokyo Round  2.     Doha Round  3.   Kennedy Round     4.  Uruguay Round  
 
 A)  4,2,3,1   B)  3,1,4,2  C)  4,1,3,2  D)  3,2,4,1  
 
55.  The first Asian Relations Conference was held at:  
 A)  Manila  B)  Tokyo  C)  New Delhi  D)  Colombo  
 
56. Choose the correct statement/s regarding the constitution of China: 
 1.  National People’s Congress can amend the constitution and is elected 
  for a period of 5 years.  
 2.  The State Council is the supreme executive organ and comprises the  
  Prime Minister, Deputy prime ministers and state counselors.  
 
 A)  1 only  B)  2 only  C)  Both 1 &2  D)       Neither 1 nor 2  
 
57.  According to M.K. Gandhi, the five eternal guides of human conduct are:  
 A)  Ahimsa, satya, asteya, aparigraha, and brahmacharya  
 B)  Ahimsa, satya, vinaya, daya and tapas  
 C)  Ahimsa, karuna, shila, bhakti and karma  
 D)  Satya, dharma, artha, kama and tapas  
 
58.  World Trade Organization is not concerned with: 
 A)  Trade and Tariffs  
 B)  Trade related investment measures  
 C)  Investment in knowledge-based industry  
 D)  Trade related intellectual property rights.  
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59.  Which one of the following is correct with regard to the impeachment of the 
 President of the USA?  
 A)  President can be impeached only through a referendum  
 B) President can be impeached only by the senate  
 C)  Impeachment process is initiated in the House of Representations and the 
  trial is conducted by the senate  
 D)  Proposal for impeachment is initiated in the Senate and the House of 
  Representations conducts trial  
 
60.  Who among the following equated nationalism with thoughtless emotionalism?  
 A)  Ram Manohar Lohia  B)  M.N. Roy  
 C)  B.R. Ambedkar   D)  M.K. Gandhi  
 
61.  Among the following who classified the elements of political development as 
 equality, capacity and differentiation: 
 A)  James Coleman   B)  W.W. Rostow  
 C)  Edward Shills   D)  Lucian Pye  
 
62.  The Secretary General of UNO who was an exponent of ‘preventive diplomacy’: 
 A)  Boutros Ghali   B)  U Thant  
 C)  Kofi Annan    D)  Dag Hammarskjold  
 
63. The chapter of UN Charter which contains provisions for collective security: 
 A)  Chapter V  B)  Chapter VI  C)  Chapter VII  D)  Chapter VIII  
 
64.  Who among the following conducted ‘Pig Iron Experiment’?  
 A)  Mayo   B)  Taylor  C)  Follet   D)  Herzberg  
 
65.  Match List I with List II  
 List I      List II  
 a.  Group theory    1. Robert Dahl  
 b.  Polyarchy    2. G. Mosea  
 c.  Elite theory    3. A.F. Bentley  
 d.  Power Elite    4. C. Wright Mills  
 
 A) a-3, b-1, c-2, d-4  B) a-1, b-3, c-4, d-2  
 C) a-4, b-3, c-2, d-1  D) a-3, b-1, c-4, d-2  
 
66.  According to Max Webber, the modern bureaucracy is based on ------authority. 
 A)  Charismatic    B)  Traditional  
 C)  Legal - rational   D)  Popular  
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67.  According to Keohane and Nye, the internalization of the world economy had 
 led the major industrialized nations to the pattern of: 
 A)  Dependence     
 B)  Complex dependence  
 C)  Complex interdependence  
 D)  Interdependence  
 
68.  Who among the following is a leading member of the Frankfurt  School of 
 critical theory?  
 A)  Theodor Adorno   B)  Habermas  
 C)  Robert Nozick   D)  G. Mosea  
 
69.  Which one of the following pairs is correctly matched?  
     Conference    Issue  
 A)  Durban South - South dialogue  
 B) Beijing   - Gender rights  
 C) Uruguay   - Round disarmament  
 D) Copenhagen  - Global warming  
 
70.  Assertion (A):  Classical theory views organization as a formal structure of  
       authority based on universal principles  
 Reason(R):   Classical theory views the human beings who run an   
     organization as mere cogs in the machine.  
 
 A)  Both A and R are true and R is the correct explanation of A  
 B)  Both A and R are true but R is not the correct explanation of A 
 C)  A is true but R is false  
 D)  A is false but R is true  
 
71.  China’s role in SAARC: 
 A)  Dialogue partner   B)  Special invitee  
 C)  Observer    D)  Associate member  
 
72.  The first phase of cold war started with US military intervention through:  
 A)  Suez Canal    B)  North Korea 
 C)  Pearl Harbour   D)  Berlin Blockade  
 
73.  Which one of the following is not a part of the State List in the 7th Schedule of 
 the Indian Constitution? 
 A)  Relief of the disabled and unemployable  
 B)  Taxes on lands and buildings  
 C)  Prisons  
 D)  Stock exchange  
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74.  The Indian politics was described as ‘politics of scarcity’ by:  
 A)  Rajani Kothari   B)  Myron Weiner  
 C)  Gunnar Myrdal   D)  Morris Jones  
 
75.  Which of the following is not a feature of Asok Mehta committee 
 recommendation on Panchayat Raj?  
 A)  Constitutional recognition to PRIs  
 B)  Non-involvement of political parties in election to the PRIs  
 C) Reservation of seats for SCs and STs  
 D)  A minister in charge of panchayat Raj  
 
76.  The credit to develop Structural Functionalism as a tool of political analysis 
 goes to 
 A)  David Easton   B)  Robert Dahl  
 C)  Coleman    D)  Gabriel Almond  
 
77.  A book authored by Morton Kaplan:  
 A)  The study of international relations  
 B)  Institutional Equilibrium  
 C)  System and process in international politics  
 D)  Foundation of international politics  
 
78.  The concept of ‘circulation of elites was advocated by:  
 A)  Pareto  B)  Michels  C)  Mosca  D)  Wright Mills  
 
79.  Spoils system is also known as ----- bureaucracy. 
 A)  Developmental   B)  Patronage  
 C)  Committed    D)  Neutral  
 
80.  The Articles of the Constitution of India which give exclusive powers to Rajya 
 Sabha: 
 A)  Articles 248 and 311  B)  Articles 249 and 311  
 C)  Articles 249 and 312  D)  Articles 248 and 312  
 
81.  The chief architect of the policy of ‘Containment of Communism’ in USA:  
 A)  George Kennen   B)  Henry Kissinger  
 C) John Foster Dulles   D)  Daniel P Moynihan  
 
82.  A work not authored by Graham Wallas: 
 A)  The Great Society   B)  Our Social Heritage  
 C)  The Art of Thought  D)  Social Theory  
 
83.  In Canada, residuary powers have been given to:  
 A)  Centre    B)  Both the Centre and provinces 
 C)  Provinces    D)  Governor General  
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84.  British Act which is known as the Act for the good governance of India: 
 A)  Govt. of India Act, 1858 B)  Govt of India Act, 1861  
 C)  Govt.of India Act 1909  D)  Govt of India Act, 1935  
 
85.  Which one of the following is not a feature of French constitution of 1958?  
 A)  Adoption of Declaration of Rights of 1789  
 B)  Favoring strong presidency  
 C)  Limited powers of parliament  
 D)  Unicameral Legislature  
 
86.  The parliament of India enacted the Panchayat Extension to Scheduled Areas 
 (PESA) Act in 1996. Which one of the following is not identified as its 
 objective?  
 A)  To provide self – government  
 B)  To recognize special rights  
 C)  To create autonomous regions in tribal areas  
 D) To free people from exploitation  
 
87.  Which Amendment of the constitution of India created separate National 
 Commission for scheduled Tribe?  
 A)  87th   B)  88th    C)  89th   D)  90th  
 
88.  The Fortaleza Declaration is related to the affairs of: 
 A)  ASEAN  B)  BRICS  C)  OECD  D)  WTO  
 
89.  The UNO’s report entitled ‘Leave no one Behind’ specifically deals issues 
 related to: 
 A)  Women and Girls   B)  Children  
 C)  Refugees    D)  Persons with different abilities  
 
90.  Thomas Hobbes published his work ‘Leviathan’ in:  
 A)  1551   B)  1651   C)  1751   D)  1851  
 
91.  The constitution of India  which deals with Election Commission of India: 
 A)  Part XII  B)  Part XIII  C)  Part XIV  D)  Part XV  
 
92.  Under Article 213, the Governor of a state is empowered to:  
 A)  Exercise discretionary powers  
 B)  Promulgate ordinances  
 C)  Commute the sentence  
 D)  Reserve a bill for the consideration of President  
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93.  Match List I with List II  
 List I         List II  
 a.  Introduction to the study of Public Administration  1. E.N. Gladden  
 b. Principles of Public Administration    2. E. Dimock  
 c. An introduction to public Administration   3. L.D. White  
 d. A philosophy of Administration    4. W.F. Willoughby  
 
 A) a-2, b-4, c-1, d-3   B) a-3, b-4, c-1, d-2  
 C) a-4, b-3, c-2, d-1  D) a-4, b-3, c-1, d-2 
  
94.  Assertion(A):    In India, all functions of the public officials are exercised to 
       realize the ideals of parliamentary democracy  
 Reason(R):      Civil servants are directly accountable to parliament and  
        people  
 
 A) Both A and R are true and R is the correct explanation of A 
 B) Both A and R are true but R is not the correct explanation of A 
 C) A is true but R is false  
 D) A is false but R is true  
 
95.  Local Governments in Britain are primarily governed by:  
 A)  Conventions of the constitution  
 B)  Rules of the national government  
 C)  Judgements of the courts  
 D)  Different acts of Parliament  
 
96.  Chief Electoral Officer of a state in India is appointed by:  
 A)  President in consultation with Governor  
 B)  Chief Election Commissioner in consultation with state government  
 C)  Governor of state in consultation with chief election commissioner  
 D)  President in consultation with chief election commissioner  
 
97.  Civil Society is not a central concept in the political thought of: 
 A)  Hegel   B)  Bentham  C)  Gramsci  D)  Lenin  
 
98.  ‘Philosophers have so far interpreted the world; the problem is how to change it’ 
 – who said this?  
 A)  Karl Marx    B)  Rousseau  
 C)  Mao Tso-Tung   D)  M.N. Roy  
 
99.  The Judgement in the S.R. Bommai Vs Union of the India case pertained 
 broadly to which Article of the Constitution of India?  
 A)  Article 29  B)  Article 32  C)  Article 353  D)  Article 356  
 
 
 



13 
 

100.  Who made the observation “qualities which deserve admiration in a prince may 
 be different from those which deserve admiration in a private citizen” 
 A)  Machaivelli   B)  Plato  C)  Aristotle  D)  Kautillya 
 
101.  Assertion (A):    In a globalized world, much emphasis is placed on the  
        governance regime 
 Reason (R):       The governance regime have the ability to impose norms and 
         policies especially in situations of non-compliance 
 
 A)  Both A and  R are true and R is the correct explanation of A 
 B)  Both A and  R are true but R is not the correct explanation of  A 
 C)  Both A and R false 
 D)  A is false and  R is true 
 
102.  Find out the wrong pair: 
 A)  Administration is the organisation and use of men and  
  materials to accomplish a purpose      -    F A Nigro 
 B)  The art of administration is the direction, co-ordination  
  and control of many persons to achieve some purpose 
   or objective         -    Herbert Simon 
 C)  Administration has to do with getting things done, with  
  the  accomplishment of defined objectives     -   Luther Gullick 
 D) Administration is determined action taken in pursuit  
  of a conscious purpose.         -   F M Marx 
 
103.  According to Habermas what are the essential conditions for formation of 
 public sphere? 
 A)  Formation of public opinion, Public Access, Democracy 
 B)  Formation of public opinion, Constitution, Democracy 
 C)  Formation of public opinion, Constitution, Democracy, Right to property 
 D)  Formation of public opinion, Public Access, Freedom of Expression 
 
104.  According to Althusser, which among the following statement is true about 
 Repressive State Apparatus ( RSA)? 
 A)  Belongs to Public Domain   
 B)  Belongs to Private Domain 
 C) Belongs to Religion  
 D)  Belongs to Caste 
  
105.  The author of the quote ‘If our civilization fails, it will be mainly because of 
 breakdown of administration’: 
 A)  Woodrow Wilson   B)  L D White 
 C)  W.B. Donham   D)  Paul H Appleby 
 
106.  European Union was established in: 
 A)  1993   B)  1972  C)  2001   D)  1984 
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107.  Assertion (A):    Behavioralist thinkers identified the limitations of objectivity 
        in the methods of political science 
 Reason (R):       David Easton argued that the scope for perfect science is  
        limited to social necessity 
 
 A)  Both A and R are true and R is the correct explanation of  A 
 B)  Both A and  R are true but R is not the correct explanation of  A 
 C)  Both A and R false 
 D)  A is True and  R is False 
 
108.  The concept of ‘historic bloc’ belongs to: 
 A)  Karl Marx    B)  Talcott Parson 
 C)  George Sorel   D)  Gramci 
 
109.  Which among the following statements is true with legitimacy: 
 A)  Legitimacy is an efficient way to secure obedience and conducive to  
  stability 
 B)  Legitimacy once obtained can be automatically renewed 
 C)  Legitimacy is created by public sphere and civil society independent of 
  state 
 D)  Conformity to accepted rules is not a condition for legitimacy 
 
110.  Veto in UN Security Council means: 
 A)  Negative vote by all members  
 B)  Positive vote by a permanent member 
 C)  Negative vote by a central power  
 D)  Negative vote by a permanent member 
 
111.  Whom among the following is a member of NITI Aayog? 
 A)  Prime Minister   B)  President of India 
 C)  All state Finance Minsters  D)  Speaker of Lokh Sabha 
 
112.  “The heaviest penalty for declining to rule is to be ruled by someone inferior to 
 yourself”. Who made this statement? 
 A)  Aristotle    B)  Plato 
 C)  Machiavelli    D)  Kautilya 
 
113.  According to Marx the key feature of capitalism that differentiates it with 
 earlier social systems is: 
 A)  Exploitation    B)  Commodity exchange 
 C)  Profit     D)  Technology 
 
114.  The Radical Democratic Party is associated with: 
 A)  B R Ambedkar   B)  M N Roy 
 C)  Jayapraksh Narayanan  D)  Sardar Patel 
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115.  Match List I with List-II  
 List-1      List-II 
 a. Credo of relevance   1.FW Riggs 
 b. Re inventing Government  2. David Easton 
 c. Prismatic Society    3. Ted Gabler 
 d. Net Work Society   4.Manuel Castells 
 
 A)  a- 2, b-3, c-4, d-1  B)  a- 4, b-3, c-1, d-2 
 C)  a- 2, b-3, c-1, d-4  D)  a-4 , b-1, c- 2, d- 3 
 
116.  Which among the following cases is related to Public Interest Litigation? 
 A)  Bandhu Mukthi Morcha Vs Union of India  
 B)  R.C Cooper&amp; Others Vs Union of India 
 C)  Golaknath Vs State of Punjab  
 D)  Maneka Gandhi Vs Union of India 
 
117.  A writ which is applicable to illegal detention of citizen: 
 A)  Mandamus    B)  Prohibition 
 C)  Quo Warranto   D)  Habeas Corpus 
 
118.  Which among the following countries is not a member of G-7? 
 A)  Canada  B)  Japan  C)  Spain   D)  Italy 
 
119.  Author of the statement “Natural rights are nonsense upon stilts”: 
 A)  JS Mill    B)  Jeremy Bentham 
 C)  James Mill    D)  John Austin 
 
120.  The term ‘vaccine internationalism’ denotes: 
 A)  Limited role of state in fighting pandemic 
 B)  Equitable production of vaccine 
 C)  Equitable distribution of vaccine 
 D)  State control over fighting pandemic 
 

_______________________ 
 


